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Characteristics oft he individual phases of a business cycle:
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	Characteristics
	Expansion
	Peak
	Recession
	Trough
Depression

	General mood
	


	
	
	

	Investments
	


	
	
	

	Labor market, income
	


	
	
	

	Consumption, prices
	


	
	
	

	Capital market (loans), interest
	


	
	
	

	Stock market
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Joseph A. Schumpeter
(1883-1950)

Life:
Josef Alois Schumpeter was bom into a
Moravian family who owned a textile factory.
As early as 1910 he became professor at the
University of Chernivisi. Here he wrote his
Theory of Economic Development. In 1911,
Schumpeter took a professorship for polit-
ical economy at Graz University. In 1919 he
became minister of finance in Austria and,
in 1921, president of a bank, which went
bankrupt during the economic crisis. After
a professorship in Bonn he transferred to
Harvard in 1932. There are many anecdotes
about Schumpeter. According to one of them,

he wanted to become the best lover, best
horse rider and the best economist in the

world. If we are to believe him, he achieved
two of these goals, without ever revealing
which two.
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Central Ideas:

In his main work, Theory of Economic Devel-
opment Schumpeter draws attention to the
cenfral challenge of capitalism. For him, the
problem in the economy is not the equilibrium
but structural change, the disequilibrium. The
true comerstone of the economy is the entre-
preneur as the dynamic force in the economy.
The process of ‘creative destruction’ gives
rise to new technologies, thereby destroying
old structures, e.g. the invention of railways
changed the transport system and ruined
stagecoach entrepreneurs. For Schumpeter,
the rise and fall of businesses was “economic
evolution”.

In his late work, Capitalism, Socialism and
Democracy, he saw socialism as a likely
result of capitalism.
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Drag the labels to the
business cycle.
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